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%***********************************************
% Octave D2~ N AX— K
%***********************************************
% BEWVTWD 7 3 /L X DR

pwd
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%%%%%%%%%%% %% % %%
% calculate NDVI
%%%%%%%%6%6%% %% %% %
for i=1:45

iDOY=(i-1)*8+1;

% input file read Band 1

% ANJ17 7 A NEZAER « 1%03d) DEATIC, —Hro# H(GDOY)A A 5,

infile = sprintfMOD09.RED¥MOD09A1.A2010%03d.OSAKA.sur_refl b01.dat', iDOY);
fin = fopen(infile, 'r');

RED = fread(fin, [198,198], 'int16");

fclose(fin);

% input file read Band 2
infile = sprintf(

NDVI = (NIR - RED) ./ (NIR + RED);

% output NDVI data
% T MODO9.NDVI &5 7 4+ /L H&AERL L T 2 &
outfile = sprintf'MOD09.NDVI¥MOD09A1.A2010%03d.OSAKA.NDVILflt', iDOY);
fout = fopen(outfile, 'w');
fwrite(fout, NDVI, 'float32');
fclose(fout);
end



%%%%6%%%%:%%%%%%% %
% Composite Annual
%%%%6%%%0%:%%% %% %% %
Maximum = zeros(198,198);

for i=1:45

% input file read
infile = sprintf(/
fin = fopen(|
Data = fread

Maximum = max(Data, Maximum);

end

% output NDVI data

% T Annual &\ H T AV F EER L TR 2 &
outfile = sprintf(' Annual
fout = fopen
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%%%%%%%%%%%%% %% %
% Select the pixel

%%%0%%%%%%%%%% %% %
North = 35.0;
South

East X
West = R
sample = 128;

line = 128;

Yor 4 S T DA LR 2 51
Plat = 34 + 57/60 + 49.00/60/60; % For Kiryu
Plon - HNGODNOEREREEE: - ror Kiyu

% R%MDORREE - RN, BN O EDALEIZH D0 EFHE
Lat = ceili - iPlat - Northi / iiorth - South) * line) %ceil X, G910 B &7 5 B4k
Lon =

% FEREEEHT OO T 7 A NV EIER
file = fopen("KEW.NDVL.csv", "wt"); % wt I write text DR

for i=1:45

% input file read

point = Data(Lon, Lat);
fprintf(file, "%f¥n", point); % A csv 7 7 A MTEE T
end

fclose(file);



%%%%%%%%6%6%% %% % %%
%  LSTvs VIs
%%%%%%%%%%%%% % %%
scale = 0.02;

for i=1:1

% input file read

VI= freadi fin, [198,198], 'float32");

LST = freadi fin, [99,99], 'uint16'); %LST 137 — 2 AN R 5D THE

%LST % 99x99 715 198x198 DT — X (ZZ5
LST2 = zeros(198,198);
for iLat=1:198
for iLon=1:198
%273.15 ZBIW\WTK 75 CICEH#H
LST2(iLon,iLat) = LST(ceil(iLon/2), ceil(iLat/2)) * scale - 273.15;
end
end

% x fili & VI, y#h% LST2 O#fiX % 1EX
plot( VI, LST2, 'k+"); %kITERA, HIROBERET AT a v

end

axis([0.0, 10, -5, 15]);
xlabel('VI');
ylabel('LST");



